A= 3 33
O &4+ 25 HolA: 1/9
HETE LM IS
Al 3 Al Z
=) | & HEE oA S =) | & HA= el S
sHA| 445,732,000 442,660,000 -3,072,000 sHA| 445,732,000 442,660,000 -3,072,000
UARLOIZZ) REB4Y | UL (0|)H|E4Y 61,756,858 66,055,604 4,298,746 AL Q1 24H| 292,056,455 284,613,643 =7,442,812
QUYFH+Y LUFH+Y 352,144,902 324,255,116 -27,889,786 AFZH| Ao =21H| 10,560,000 11,160,000 600,000
= g 0 13,500,000 13,500,000 ApR2H] 23| 54,420,880 53,520,000 -900,880
1= ez 1,000,000 10,000,000 9,000,000  AMALRMH| INEL] 21,300,000 28,140,000 6,840,000
Olg= Olg= 16,842,433 16,000,000 -842,433 AtdH| 23H| 37,440,000 33,960,000 -3,480,000
Y Fepatd 13,987,807 12,849,280 -1,138,527 AFH| ArH| 3,400,000 3,600,000 200,000
0 0 0 HES HES 1,000,000 1,000,000 0
0 0 e Bajdeg 23,500,000 13,000,000 -10,500,000
0 0 0 A& A2 E 1,000,000 1,000,000 0
0 0 0  ofH[H| ! 7|E} oflH|H| 2 7[E} 1,054,665 666,357 -388,308
| 2YEgHAT Y SN | '
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% | 445,732,000 447,660,000 -3,072,0000 ° ~ °
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252 61,480 % 288 Y * 1 I x85% = 15,050,304%
=2 56,760 * 288 Y * 10 & * 85% = 138,948,480
%
352 56,760 * 288 Y * 7 H * 94% = 107,562,470
Y0+ YF0 =
ol ol 719450+ 352,144,902 324,255,116 -27,889,786 -7.92% 352 56,760 * 288 Y * 3 % 91% = 44,626,982%
= = 353 56,760 %288 Y « 1 * 100% = 16,346,880
_(‘D_I;I
71242 60,000 * 12 74 = 720,000
FORZIHS)
71294504 (2174u|H|E O]HHY) 1,000,000
FOfZHES)
ol gz == HAZ0|ES 16,842,433 16,000,000 -842,433 -5% | A0 ¥Z 16,000,000
22018 oA (0|8) (FORLES)
A REEE ;i axor ZIEHS0Y 1,200,000 1,200,000 0 0% 7IEHH|Z0442! 100,000 * 1270 = 1,200,000
T -4
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F02H5)
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QAR (0|2 252 61,480 %288 Y * 1% » 15% = 2,655,936
S oA (0|2 352 56,760 % 288 Y * 10 & * 15% = 24,520,320
RIS 2018 momaaay 34,156,858 38,455,604 4,298,746 12.59% - = :
& °Te 352 56,760 * 288 Y * 7 H * 6% = 6,865,690
52 56,760 * 288 Y * 3% x 9% = 4,413,658
ULZLH(O|E Z0[7tE 5)
i e (= AZEH|42! 100,000 * 1271 * 22 = 26,400,000
SRS ;i;il?) SLUELIES 26,400,000 26,400,000 0 0% o T TEI00 el x 228 = 26,400,
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- Fe el 7 |Et0I 20| At 7,807 9,280 1,473 18.87% 7|EIIZ0IA4Y 9,2809
(FORIES)

- & 7[Efy 5,340,000 7,800,000 2,460,000 46.07% 7IEFR42 650,000 * 1270 = 7,800,000
ZOZIES)

- Fe el M=+ 8,640,000 5,040,000 -3,600,000 -41.67% ZAAMAE42! 70,000 * 1274 * 6% = 5,040,000
(FORIES)
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445,732,000 442,660,000 -3,072,000 = AP
Z0RHE3)
ALRH| HEZZ 3,000,000 2,760,000 -240,000 -8% 7|22%H| 230,000 * 127H¥ = 2,760,000
FOfZHES)
AFRH| YR FZIH| 7,200,000 8,400,000 1,200,000 16.67% Z24=zH| 700,000 * 1274 = 8,400,000
AFSH| AR =2 360,000 0 -360,000 -100%
ZORZIE3)
7|2 200,000 * 12742 = 2,400,000
£E2 150,000 * 12742 = 1,800,000
7FAE 100,000 * 12742 = 1,200,000
AHRH| 2| 14,000,000 14,400,000 400,000 2.86% SAE (YutA3}, QIE{U, QWE ¥ ) 100,000 % 12
2 = 1,200,000
2% HHE AU, SRR, ATEE...)
650,000 * 127H€ = 7,800,000
Z0RzHe 3)
29| ALl 2! 22| S AHH| 150,000 * 127HE =
ALRE g 9,700,880 9,600,000 -100,880  ~1.04% (opimm;
212AtE 650,000 * 12742 = 7,800,000
(FOIZtE 3)
22 ABEH| 260,000 * 12702 = 3,120,000
AHEH] 2GH| E 6,760,000 6,720,000 ~40,000 =-59% 21z xx2 300,000 * 12742 = 3,600,000%
ALRH| 2gH]| 360,000 0 -360,000 -100%
' ZO[7HE5)
AHRH| 2G| 8,400,000 8,400,000 0 0% AFRA 2zt 700,000 * 12702 = 8,400,000
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AFRH| 23| ZFH| 15,200,000 14,400,000 -800,000 -5.26% S 2 AH| 1,200,000 * 12742 = 14,400,000
ZO0RZtE3)

=0{(21%H[) 168,000,000
*QUR RS FZn
ALSH| 1ZiH| =% 250,760,000 243,600,000 -7,160,000  -2.86% (FoRt%3)

201(z¢aH)) 75,600,0009

*QUA ST AURHE 2 2x

(FOIZHEB)

201432 168,000,000 * 4.5% = 7,560,000

HZE3 168,000,000 * 3.545% = 5,955,6008

27|29 5,955,600 * 12.81% = 762,912

T2E3 168,000,000 * 1.15% = 1,932,000

AHES 168,000,000 * 0.9% = 1,512,000
ZORHE )

(A1E2Y

2012432 48,000,000 * 4.5% = 2,160,000

AREH| QIZ4H| AIS|HSRED 23,596,455 24,713,643 1,117,188 4.73% A3 48,000,000 * 3.545% = 1,701,600

27|29 1,701,600 * 12.81% = 217,975%

AE2 Q)

SUHF 27,600,000 * 4.5% = 1,242,000
HZHEH 27,600,000 * 3.545% = 978,420
7|22 978,420 % 12.81% = 125,336%
1853 27,600,000 * 1.15% = 317,400
A ER 27,600,000 * 0.9% = 248,400

FoRHES)
BT Y ERAYT @)
168,000,000 / 1271& = 14,000,000
AH| 1 2H| B2 Y ERHAS 17,700,000 16,300,000 1,400,000  -7.91% (F0i=s)
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27,600,000 / 1271& = 2,300,000
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AbiH| ApeiH] 2 3 AR 3,400,000 3,600,000 200,000  5.88% ?foﬁg"ogfﬂ H A=+ 300,000« 1271 =
Zopze 3)
o241 Az = 2! Z7EA 100,000 * 12702 * 229 =
26,400,000¥
VT 29| A 35,040,000 31,440,000 3,600,000 -10.27% (ZOkt=5)
2190 A2 2 7H4] 70,000 * 12742 » 6% =
5,040,000¢
Zopzte 3)
AbiH| 2| 427|224 1,200,000 1,560,000 360,000 30% ;oo Z"OOSE’E 2 4R 130,000+ 1271 =
(ZopH3)
AbH| 2G| O|=H| 1,200,000 960,000 -240,000 -20% o{241 212 L QH| 80,000 * 127H€ = 960,0002
(F0zHE B)
o2g Hijjdee dadEE 22,000,000 13,000,000 -9,000,000 -40.91% =A== 13,000,000
= HAAEDT oA 1,500,000 0 1,500,000  -100%
(F0pzHE3)
HlH| &I 7 HlH| & 7 _ _
SL Bzl S: B2 e 1,000,000 500,000 -500,000 ~50% &2 500,0008
HIH| 2! 7 HlH| @ 7 FORZIES)
SL HEN S; T 54,665 166,357 111,692 204.32% ollls] 166,357
(F0pzHE3)
H2E & &R 1,000,000 1,000,000 0 0% | &A1& 1,000,0002
Zopztes)
MALZAE]  AlAH| Al4H] 1,000,000 3,000,000 2,000,000 200% ZAITHZ 3,000,008
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T2 O UMAHE

Zopze B)

/GH|  A|4H| Al 2| RAH| 800,000 840,000 40,000 5% A|AZH|Q[H| 70,000 * 12742 = 840,0008
Zopztes)

ZAH|  AlAH] AHARZ|EH| 19,500,000 24,300,000 4,800,000  24.62% IS 7oiths 13,500,0002

tgreksa 900,000 * 12713 = 10,800,000

a2 gl = %00:'%%'-@' (FO[ZtES)
LoT T ZUZTUEH AMSA WMREIZ 0 6,000,000 6,000,000 0% AlMEHZ7HAMZH|Z 500,000 * 1274 = 6,000,000
INMEES
o= =3584 (FOp7tE5)
e AT Y EY 2E2YHUS 0 6,000,000 6,000,000 0% S22 500,000 * 1274 = 6,000,000
IS
(FORIES)
HE2 g2 J[EfHES 1,000,000 1,000,000 0 0% 7IEFHZ2 1,000,0008
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01219) b4 Q2HE (QAAAH|HAIN)

T QIzin| 7 Ao = Hzag JERE s Al HEtE A
e

1 Ar2lZA[AL 21ZH| ALB|S AL 30,000,000 0 0 2,500,000 3,164,735 35,664,735
2 LS XA 214H| UHSZEA 31,440,000 0 0 2,620,000 3,316,641 37,376,641
3 QULHSAHIF 2|1 4H| QULSAHIF 26,640,000 0 0 2,220,000 2,810,284 31,670,284
4 QUHSAHF 2{ZH| QUHSAHIF 26,640,000 0 0 2,220,000 2,810,284 31,670,284
5 QULHSAHIFS 2|1 4H| QULHSAHIFS 26,640,000 0 0 2,220,000 2,810,284 31,670,284
6 QULSA1F 21ZH| QUHSAHIF 26,640,000 0 0 2,220,000 2,810,284 31,670,284
NESEERIA gy ASSEERSR 45.600,000 0 0 0 4,079,574 52,079,574
8 B ZUAL 7| HZYU2HA 15,000,000 0 0 1,250,000 1,582,368 17,832,368
9 B 2UAL 74| HZY MM 12,600,000 0 0 1,050,000 1,329,189 14,979,189
2 | A 168,000,000 0 0 14,000,000 17,722,512 199,722,512
2 ZH4 QI7dH| A 75,600,000 0 0 2,300,000 6,991,131 84,891,131
Z Q| A 243,600,000 0 0 16,300,000 24,713,643 284,613,643
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